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Fraction Practice Problems

. £ K
. ,i/__zf .._/'___[__—%' = /Jﬁ ?’jdé’
3¢ 715 it
- 7 3¢
6 52‘21 7 71_12
3 4 4 6
& 2 I A
SO G AL = 7517
Sy
:&«Bﬁi AT Ny’
0. 1233 1. 4liol
9 36, 574
= 7 3t 4 - _:%i,} :
2, &5
A I 4 2
" ST R C
'3
14, 62452 15, 2oL
4 ) 12 12
: 2
T .
Y 4 AF = =
S S A
- /f;;f ‘/“{zg’f
7
18, 60-22 19. 4,21
0 6 ¢ 17 44
2,k gy
. é /5/“&2 ;& B 7
2¢ L5 - ¢
=50 TN /
2. 4221 23, L4
7 16 16
Ry e s
= 7 7 7
- :_é.’ _;f’, ﬂ,/ﬁf{
A S AR
2.2 27 12
17 17 5 12
- L a8y
/7 ETAEY
/3

Y
v
4 2.3
7 7
R
-7
A9 3
13756 © 5
/ j}
2. 2.2
14 14
7 L
L "ﬁz
JE /7
5
7.3
8 12
L2l e
T2y Ay T aY
20. 22x32
6 "5 "
)7 [ 2Ae
:’_Z‘f 20
23
- /030
u LA
1215
R aA
— {:;Q!O{f"
-5/
I
28, §2-51
3 )
. Lj /’--—z
o Al
- 1
= 27



30.

\f

~
3

| n
SRR

34.




Percent Practice Problems
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